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=¥ FH(E) |[7HE(H2) | 2¥(E) |HEES) | 2¥(E) [JHEE2) | #-(E) |HE((H2)
oj= 1,425 | 2,337 | 2,330 | 3,831 4,148 | 7,267| 6,669 | 11,792
Ei=
satE 988 | 2,842 | 1331 | 3,757 | 2,756 | 7,459| 2,694 | 6,880
matA
£
Hlot= 167 451 288 773 168 444 192 479
5t 2,580 | 5,630 | 3949 | 8,361 | 7,072 | 15,170| 9,555 | 19,151
UV 20054 12 ~ 20084 102
z=| 20054 20064 20074 20084
= +Z(E) | HE2) | 28(E) | HEEE) | 2EE) |7HEEE) | £#3(E) | HE(E=2)
12 4,680 | 9,153 | 1,659| 2,082| 2975| 4,832 | 5,076 8,914
2d 2,307 | 4,675| 3,017 | 3,658| 2,717 | 4,326 3,991 7,229
3 4,786 | 10,202 | 5,112 | 4,868| 2,664 | 4,056 | 5,219| 9,857
4 2,883 | 5,830 | 5,838 5177 | 2,830 | 4,409 | 5,889 | 11,255
58 2,828 | 5,659 | 7,883 | 6,761| 3,216 | 5,265 | 6,502]| 18,090
6g 3,734 | 6,852 | 7,837 | 7,284| 3,572| 5,583 | 7,633| 14,990
7€ 9,307 | 14,813 | 4,453 5,213 | 2,533 | 4,295 | 9,555| 19,151
8¢ 8,684 | 13,895 | 4,094 6,151 | 2,951 | 5,068 7,072| 15,170
9d 5,952 | 9,508 | 4,762 | 7,042| 2,206 | 3,963 | 3,949| 8,361
108 4,376 7,116 | 5,937 | 8,725| 3,439 | 6,175 | 2,580| 5,630
118 2,247 | 4,861 4,245 | 6,584| 5,233 | 8,618
128 980 | 1,709 | 4,115 | 6,267 | 3,474 | 6,080
A 52,764 | 94,273 | 58,852 | 69,912 | 37,810 | 62,620 | 57,466 | 118,647
2ET 4,397 | 7,856 | 4,904 | 5,826| 3,151 | 5,218 5,747 | 11,865
THEACHH] 1 222.4% | 228.6% | 111.5% | 74.2% | 64.2% | 89.6% |197.5% | 247.6%
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